PANEL GLIDE
SYSTEMS

%SilentGliss



GENERAL NOTES / —figsf/E=RFIR

Dimensions / ~}E&EHEICDOWT

- $FRI(CTREN TV IZEZIRE . /RSN TVBIEF (L mmBEIERDET,

- RK kgld. $ER(CBENZ 7YY - (B &R) ST Tr IV IDEEERNET,

- 2994 X (Tl X)) (& NRIVOREDIER E DR E(CRZZENE T,

- HEREENZH—FT BN SRETOIEREGFHLDEZS): 10 mm

- SATLOEE (B) BREITZHE. A, RURLOBESTENR/IMBEOEEZERBL TS,

Fitting / S%&(CDWT
- BH0IEBEZ BT I A (CL D58 BEZHEDLET .

- I3y MEOBELEUTIHAIE /B ERA > ME, BUG I T, AT AOEE, £MOHEHL. ROEH, BEVICLOTRBNET . &
BERBIEZINTVSRSEAM THATI.

- HEOVTE, FEUT I FHOIRRCEUR S RZER I IHENDDET
- L=V EBBICUY T (=R ) W82 i5mE . BRERAICECEL THYTIIET .,
- BEERMORIRE BEARREUIMAEAORECHE > TITRO TS,

Child Safety / FROBREICOWVT
- Silent GlissZG(EFRMIABDEN 13120(CHERLTVET

%SilentGliss 2



APPLICATION CHART

15

23

29

AT L

SG 2700

SG 2710

SG 2730

SG 2750

iR{F

B W & W

51X

%SilentGliss

4“— max.—

2 kg

2 kg

2 kg

2 kg



%SilentGliss



SG 2700

PRODUCT INFORMATION / S5k

- B F5IEERE

- BEEEHE: S(RE-) — L(5-2)

- EREEEE XA, [EHE. VX (1EhiAd)

- h5—: 2= RKIA b

- 79U YA NMURTFTUI VD330 CSRRKIZEV BERNBD
SAREMESRFVLET

Features / ¥§#4:

- 2CO0->—%#%H

- BHEMNSKAL-ARETHZIFEMEENTT

- TR ST - T ICCRIED I ERNE S

- CRINEIBIE A T (IR EEALAR ) L T - 51 T (B RIRIE) N 53BIRTEE T

5 %SilentGliss 06/2025/V1



SYSTEM SPECIFICATIONS / A7 LMft#k

A. SYSTEM
DIMENSIONS /
S AT L SR

B. PROFILE / L—JL

L—IVIEER

SG 2700

T
4— max.— max. k
: g..
KR JU=54T 4m BKE=.2kg/ m
L—IVHLsRE]BE %) CRIVIFEED
IRV SEEEAALT
6m
2 50 68 86
~— =
- o D T
Jz T iz it 72 et et W U
T L 18 i 18| P18 i 18 i 18| < B TE T
SG 10122 SG 10123 SG 10124 SG 10125
L=l 2 ch L= 3 ch L—IL 4 ch L =)l 5ch %@ EEE
on
39 57 75 03
i — — ——
i —1 i — — - i 3
2 21 S E 2 L3 A 2 3
\S ¥y \B 3y v ¥y | 13 |
58 « 77 , < 95 o
SG 10172 SG 10173 SG 10174 SG 10175

DAL =)L 2 ch %iBIMER
Ztm

AL =)L 3 ch XiBIMER

ZHtm

7 8
f T
20 37
SG 2004 SG 10230
RELN= PI=FvU7

%SilentGliss

DAL =)L 4 ch XBIMER
ZHtm

JEZL =)L 5 ch XiBIMER

ZHtm



C. HOW TO A A BRIE
P B ] B: #@Es
MEASURE / ’7 C: N-TIRNBHRETOEHE
AIE P 7

0O

-

7

JCRIVDTIE
A: JCRIVTNOHEZEERE: 500 - 1200

EEALT:
A INRIVTHOHEREFE : 500 - 1200

B: A=\=3v7: 80 (fF#At4%) % 50 - 100

\

FITTING / sE&EbHE

A. FITTING SRR EIBIRICOVTIE, HHEABRWVWEDELE
INFORMATION /  &U%
EAE e E

737“} hﬁo)mg ﬁo» . max. 800 .. max. 800 L

[ [ ]
* HARTE max. 500 mm ERDET,

B. CEILING h5vF  SG 10122 SG 10123 SG 10124 SG 10125
FITTING / / 26 3009 X

E#EQE ﬁ SG 3003 X X X
=== W FJ il

95>j - min. 45
SG 3003 /
SG 3004

CIERRRICEDEERSEREIE)

ML
7 ~& SilentGliss SG 2700



T3y -
SG 10136 /
SG 10137

C. WALL FITTING /

IEHEEERIE

AX—=NI1WIR
(FHEHER)

SG 2700

66 = 8 ff‘*
(&) = =
O —

SG 3003 SG 3004
9357 935>

e

CIERRRICEDEERREREZS)

SG 10136 SG 10137
I35k J347vh

7

AN—bhI19IAtzyh SG 11200 - SG 11204:

J549h SG 10136 & L—JL 2 ch
J54yh SG 10137 & L—JL 3 - 5 ch
RELS RILNES SG 10395 (M4x6)

7

7z

ZHTTFAI—NI4IZyh SG 11210 -
SG 11214:

IS4k SG 10136 & L—JL 2 ch
J545wh SG 10137 & L—)L 3 - 5 ¢ch
REBERS RILNES SG 10395 (M4x6)

%SilentGliss

ISk SG 10122  SG 10123  SG 10124

SG 10136 X

SG 10137 X X
;’gi’:;”; ,§x mm  Xmm  Xmm  Xmm
2 (SG 10122)(SG 10123)(SG 10124)(SG 10125)
SG 11200 /

oo 11210 43 24 24 24

SG 11201/

oo 11011 63 44 44 44

SG 11202/

oo 11210 83 64 64 64

SG 11203/

o 11015 103 84 84 84

SG 11204 /

o 11014 133 114 114 114

SG 11156 172-201 154-182 154-182  154-182




D. RECESS
FITTING /
Ve2J4v51>7

JEAL-Ib -
SG 10172 -
SG 10175

N

/—H%

7

o

A=/C—HIAZ—NI{vIRtyh SG 11156:
J54yh SG 10136 & L—JL 2 ch

J549h SG 10137 & L—JL 3 - 5 ch
DB RILNES SG 10492 (M4x8)

s
30/\ 19

N

SG 10136 SG 10137 SG 10395 SG 10492

I3vbh I35k +FNRIL RS M4x6 +F IRV IR M4x8
P oS N T
80 S 100 s 120 >

A E S =il A
16{ 16{ 62 S 62 < 62
g ~y e ~y

SG 11200 SG 11201 SG 11202 SG 11203

AN—=RI4wI Xy 60 mm

T

AX—=bJ4vIZvh 80 mm

AN—NJ1wI Xty 100

AX—NIJ1wIZYh 120
mm

150 7 i }\\ < RS 100/\ x>
o<y <3 < “29
&2 o No< A S
< J o
16
SG 11204 SG 11210 SG 11211 SG 11212

AX—hI19IRzyh 150
m

=

AT T AR —NIJ4wIRzy b
60 mm

ADIT A —bI1wIXtzy bk
80 mm

120/\ > 150/\
< \' \' 200 \A

< 29 29 / \6'2
a C

ke Yoo o
NS

SG 11213 SG 11214 SG 11156
ADIFAR—=RI4wIAeys  ROIVAN—=BI4vIZAzyhs  IZN-HIAX—KIT(vIR
120 mm 150 mm vk 200 mm

G

IYTSG 10157(3500mn(C HEERE o

SHRERBEIBRICOVTIE. HHEABBWEHEZE

(AN

%SilentGliss

ADIT AN =TI Aty b
100 mm

SG 2700



- /,\5 /5‘ 39 57 75
A 1 A A i —
</ 22 21 22 21 22 21

v J v J v y

18A5/ 58 . 77 , < 95 o

v

SG 10157 SG 10172 SG 10173 SG 10174

DIyd *EAIREEm DEAL =)L 2 ch B9 ER UEAL—IL 3 ch XiBSMER  UEAL—IL 4 ch XIBFHER
HEm FHtEm HEm

93
—

22 211
v ¥y

L 13 |

SG 10175
DEZL =)L 5 ch XBIMER

HEm

SYSTEM OPTIONS / SAFLATZ3a>

A. OPERATION /

RE

SG 2700

—

%SilentGliss

IRIDITV=94T (Z)IFRIVOF 5 EERNIRIE)

NRIDEFEIAT (FREEMAR RO—-0YRCEBIRME)
xpO-0vk = )Uh>

10



B. PANEL

1

STACKING
(CONNECTED) /

X RO
(E#HI1T)

—

SIIIWAEYY /) FEERRINOLIHR
x  @EN=EEsNs/ (R

RFA5yY) / mREmAINDLIZIHAR
x  @El=EE2Nns/(RIL

ZERINII -3 N EIEET Y, SElAIEIRICDOVT
(F. HHEABRVEDEZEW,

%SilentGliss

SG 2700



PARTS / &bamn

A. STANDARD PARTS / %8B

B. OPTIONAL PARTS / A7>a> &b

SG 3003 SG 10230 SG 2004
e FLTHTUT YN
SG 3004 SG 10252 SG 2539
5 9557 ToRA— LIk F—7
T r—y
SG 10122 SG 10253 SG 3008
Ll 2 ch TORA= 54~ RIS TS
SG 10123 SG 10432 SG 3605
L=l 3 ch / N> 100 cm ToRA—
SG 10124 SG 10434 SG 6024
L=JL 4 ch / JNK> 150 cm REG VLD
SG 10140 SG 10074
7SO0 USRS Max8
SG 10142 SG 10125
TS RH— L—l 5ch X BI BB
SG 10143 SG 10136
ToRAI— SEZTS
SG 10144 SG 10137
ToRAI— SEZETS
SG 10146 SG 10145
7SO0 TR - X BIBE G
SG 10148 SG 10157

RO-OyR7ALyh

SG 10156

IRANS

SG 10159

+933%2 3.5x13

SG 10200

2C0-3—

SG 2700

%SilentGliss

JIvY <EHIREER

SG 10172

')DtZD—)L 2 ch XBHIMEFE

[a]a}

SG 10173
7L veRL-L 3 ch xomstESE
on
SG 10174
’ ')DtZI/—)I/ 4 ch X B EEE

[a]a}

12



SG 10175

'étZl/—)lz 5 ch XBSREE

[a]a}

)

{

SG 11212

AIJIFA—hI199ZXzyh 100
mm

SG 10340

TIHIAT RO-0YR7ALw

SG 11213

ADLITAR—hNI19IAzyh 120

mm

Ve
W
L

SG 10395
+FNRIVIRS M4x6

SG 11214

AIIFAR—hI199ZAzyh 150
mm

¢
\v
-

=

SG 10492
+FRNILIRD M4X8

SG 11127
BIRIVbRS M4x10

SG 11156

AZN=YI A - I1wI 2y h
200 mm

SG 11158
BIRIVIRST M4x12

SG 11200
AN—=RI1wI Xty 60 mm

SG 11201
AN—=RI4wH Xty 80 mm

RN

SG 11202
AN—RJ1wI Xy 100 mm

Y

SG 11203
AN=RI49I XYk 120 mm

\,

SG 11204
AN—=NJ1wI Xty 150 mm

)\

SG 11210

AIIFAI— T4 Aty h 60
mm

q
v
</

SG 11211

ADIT AN —RI4wIXyh 80
mm

/4
Ny
)

%SilentGliss SG 2700

w



ML
SG 2700 ~& SilentGliss



SG 2710

D!

PRODUCT INFORMATION / S5k

- B HHEIERE

- BEEEHE: S(RE-) — L(5-2)

- EREEE XA, [EHE. VX (1EhiAd)

- h5—: 2= RKIA b

- 79U YA NMURTFTUI VD330 CSRRIZEV BERNBD
SAREMESRFVLET

Features / ¥§#4:

- 2CO0->—%#%H

- BN TAL—XRETHE

- TR ST - T ICCRIED I ERNE S
- FE AR ETERERL BRIRBICEGUET

15 %SilentGliss

06/2025/V1



SYSTEM SPECIFICATIONS / A7 LMft#k

A. SYSTEM
DIMENSIONS /
S AT L SR

B. PROFILE / L—JL

L—IVIEER

C. HOW TO
MEASURE /
BIETSZE

SG 2710

4— max.— me. kg
l max.
6m 4m BRAE=Z.2kg/ m
X)\RILIAED
50 68 86 57
™ 9 ~ "7 9 - [
19 19
2l |2 J

| ; s z z ! a2 | - - 7
Jig T e e B

P18 18 {18 i 18 i 18 i B L
SG 10123 SG 10124 SG 10125 SG 10173
L=JV 3 ch L=l 4 ch L=Jl 5¢ch xB9REE AL =)L 3 ch *iBHER

an HEm
75 93 7 8
D —— Sy

. 2 A7 2
22 21 v y
LJJ L—V 13 f

\ 95 \ R

- - 20 37
SG 10174 SG 10175 SG 2004 SG 10230
DEAL—=IL 4 ch *B9MER JEAL =)L 5 ch *iB+ER NNAVANS TIZFv)T

Ztm

Ztm

N\

@

o

..

!

%SilentGliss

1] O h=
RmiE

[j==—
;E_'QJDDIE

A:
B:
C: h—TUMBENBRETOES
D: #F1-RRE

E: t—J574U54F— SG 10731 Rh5D&/Nad
150 cm

16



JNRIVD~T % A JCRIVTNOHEREEE: 500 - 1200
B: A—)\—-3v7: 80 (Z#(t4k) X 50 - 100

75

FITTING / s2iE&EH

A. FITTING EEREREIBIRICOVT(E. HHABBEIVWEDOEE
INFORMATION / S\
REHEHISR

757‘3 hﬁ@ﬂlﬁ 100 - max. 800 e max. 800 . 100

| |
i N

* BAATIE max. 500 mm £20F 9,

B. CEILING
FITTING / /
KHESE s ﬁ
- FJ ﬂ
03)7 = SG 3003 min. 45 >|_|<

CIEARRCEDRIZEPRGRE TS

66 r
@
O

SG 3003
9527

ML
17 ~& SilentGliss SG 2710



T3y - TS5y SG 10123 SG 10124
SG 10137 SG 10137 X X
ﬁm ﬁ m

CIERRRICEDEERREREBE)

C. WALL FITTING / % Smart Fix /X2 X mm X mm X mm
IEEE*;'H' LB N—NJ1vIR (SG 10123) (SG 10124) (SG 10125)
L] SG 11200 / >4 24 24
SG 11210
AN—NI19IX SG 11201 /
(ﬁﬂj]ﬁg) I X SG 11211 44 44 44
- SG 11202/, 5 »
AY—-KI4wH2yh SG 11200 - SG 11204 & J ~ 5611212
S4whk SG 10137: SG 11203/, iy o
HEEE RILMRS SG 10395 (M4x6) zg ﬁjéj y
SG 11214 114 114 114
SG 11156 154 - 182 154 - 182 154 - 182

N\

N

A)ITAI—bRI199Ayh SG 11210 -
SG 11214 & F5%vh SG 10137:
WHEERG NILMRS SG 10395 (M4x6)

N\

7

AZ)=BILAR—RI1vIAEY b SG 11156 & T5
vk SG 10137:
WHEERG NILMRT SG 10492 (M4x8)

N N

16{
SG 10137 SG 10395 SG 10492 SG 11200
I35k +F ARV IS M4x6 +F ARV BRS M4x8 AX—RJ4wHI Rty 60 mm

ML
SG 2710 ~& SilentGliss 18



D. RECESS
FITTING /
Y 2I1974>%
A=) -

SG 10172 -
SG 10175

19

o~ N o /\
80 S 100 S 120 S o
& / 150
Ay Ay <Ay A
s X e U NS v e ~
16{
SG 11201 SG 11202 SG 11203 SG 11204

AN —=NJ4wIRZYh 100

AN—=NJ1wIRzyh 120

AN—RI1wIAtzyh 150

{)\v <80 Y o B Ty B SNy

*16/ )5 \16/29 529 <29
o Ne<

SG 11210 SG 11211 SG 11212 SG 11213

ADIT A —RIT1wI Xty b
60 mm

ADIFP AR —RI1wIx 2y b
80 mm

150/\
/sl 200 \
29 / \6'2
Ne< N
NS

SG 11214 SG 11156
ADITAI—RNIT4wh 2y 1ZN=HIAX—RIT49IR
150 mm tyhk 200 mm

D1y SG 10157($500mm(C 11ElE% &

ADIT AR —RIT1wI Xty b
100 mm

AJIFP AR —hI1wIx 2y b
120 mm

FFHREREBIRICOVTE, HHASEVWEDECZE
W
As 57 75 93
: > ~ ™ ~ ™
w2 . 1
> S 1 . 1
'Y v7.#,} Y 95 ‘_Y < 13 -
185 - >
v
SG 10157 SG 10173 SG 10174 SG 10175

D1y XBHEEEMm

JEZL =)L 3 ch XBIMER

Hem

%SilentGliss

DEZL =L 4 ch *B5MER

HEm

JEZAL =)L 5 ch XBIMER

Hem

SG 2710



SYSTEM OPTIONS / S AFLATZ3>

A. PANEL —
STACKING
(CONNECTED) /  3>9W2%4v) / BBIERRIADR#HE
JCRIVDEREIME x ¢ @EN=EESN/RIL

RTA57) / mAEmAIAOLZH
x : @EN=EESN/RIL

ZRR)UI-23 N aJgETY . SFHlRIBIRICONT
(F HHABBVEDEZEN.

SG 2710 %SilentGliss



PARTS / &bam

A. STANDARD PARTS / #Z#80 5 B. OPTIONAL PARTS / A>3 &bam
SG 3003 SG 10252 SG 2004
o oy 7557 TS RH/- LR R
SG 3090 SG 10253 SG 2539
% J-Fg3.5m IVRAN= 314b -7
/% SG 3605 e 10 SG 10731 SG 3340
II I>RAI— \ FrAMRE—T74 V54T —tyk FYSIIIAN
4 >
SG 10123 SG 6024
o] vvsen RECDEDSISE;
SG 10124 SG 10074
L—JL 4 ch FOTRILNRD Mdx8
SG 10140 SG 10125
7200 L—Ib 5ch X BB B &
SG 10146 SG 10137
7290 I3k
SG 10150 SG 10155
4Oy h3>F— J—RAAR
SG 10153 SG 10157
J-KAAR IIvS I
SG 10154 SG 10173
J-RAAR 1 L UeAL-IL 3 ch ximsEmE Y
oo
SG 10156 SG 10174
IS RZ NS 7L vERL-L 4 ch ximstEREE
oo
SG 10159 SG 10175
5% 3.5x13 L UBAL-A 5 ch xmSMEEE
oo
SG 10200 SG 10395
2C 0-3— +FANRILRRS M4x6
SG 10230 SG 10492
FIEFTUT +FARIVNES M4x8

ML
21 ~& SilentGliss SG 2710



SG 11156

IZN=HILAI =R I1vH 2ty
200 mm

SG 11158
BIMIL RS M4x12

SG 11200
AN—=RJ4wIZYyh 60 mm

SG 11201
AN—=NJ4wIXEZyh 80 mm

SG 11202
AN—=RJ4wHZEyh 100 mm

SG 11203
AN—=NJ4wIRZyh 120 mm

SG 11204
AN—=RJ4wH XYy 150 mm

SG 11210

ADIT AR —BNI4wIRyh 60
mm

SG 11211

AIIPAI—bI4vIAtzyh 80
mm

SG 11212

ADIT AR —RNIJ4wIRyh 100
mm

SG 11213

ADIT AR —NIT4wIxyh 120
mm

SG 11214

ADIT AR —NI4wIRyh 150
mm

%SilentGliss

22



SG 2730

FLEX

PRODUCT INFORMATION / S5k

- B F5IEERE

- BEEEHE: S(RE-) — L(5-2)

- EREEEE: X, [FmEmEE

- h5—: 2= RKIA b

- 79U YA NMURTFTUI VD330 CSRRKIZEV BERNBD
SAREMESRFVLET

Features / ¥§#4:

- 2CO0->—%#%H

- BN TAL—XRETHE

= J\RIUE T =1 T (BBIRIE) EBAESA T (R EEAAR)NDIBIRTEET
- AV RIIRI-RCBIEZ 2. TLFSTNRA—-TRIEDI I 51 R

23 %SilentGliss

05/2025/V2



SYSTEM SPECIFICATIONS / A7 LMft#k

A. SYSTEM
DIMENSIONS /
S AT L SR

B. PROFILE / L—JL

L—IvED—THNIo
154R

C.HOW TO
MEASURE /
RIETTE

SG 2730

4— max.—

KR JU=54T
L—IVHLsRE]BE
IRV SEAEIALT
6m

32

el
]

g

49

e |
ik

kg...

BRRKE=.2kg/ m
MRV IO

JiE2 Jige
L1 18 1 18 !
SG 10132 SG 10133 SG 10134 SG 10135
L=l 2ch L—Jl 3ch L=l 4ch L—Jl 5ch
HR: EEN ESEN EEN
v 17 cm *L—=)LAAI v 17 cm *L—JLRE v 17 cm *L—I)LRMEI v 17 cm *L—JLRE
>30 cm >30 cm >30 cm >30 cm
2 2
f '
1& J
SG 10179 SG 10180
DEE VA ILFSTHvU7
. _ A: BRiE
’ B: #R5
C: =T MEHBEREFTOES

7

-

7

%SilentGliss

24



RIVDTE

FITTING /

A. FITTING
INFORMATION /
=L T

I3y NEDAIE

B. CEILING
FITTING /
IHEE

BB

C. WALL FITTING /

IFHEEEE

AN—KI49IR
(HEhER)

25

2)—547 / FERIRIE:
Ar SRV MOHEZESR: 510 - 1210

EAEIL S :
A INRIVTHOHEREFH: 510 - 1210
B: A=)\=35v7: 110 ({Z2#4t4x)

=JL ﬁ" =
gLt
SRR ERIRICOVTE. BHASREVEDEL
AN
100 max. 800 max. 800 100

L [ ]
* HATIE max. 500 mm £20F 9,

7/%
[

4

X = min. 27 mm
CERRECEDBEEEMGEREZEV

// T f—,{:jr;?_x mm X mm X mm X mm
] ; e i (S5G 10132)(SG 10133)(SG 10134)(SG 10135)
Frcﬂm [NAEPLS
‘ ££ J d SG 11156 182-210 164-192  146-174 128-156
-4 X J
1) AX-~IwHIRyh SG 11156 & A0V
hryb SG 10160:
MEEPE +RILIRS SG 10395 (M4x6)
%SilentGliss SG 2730



~2%

15 —_
< ~ ® 200/\ \:2

\Y/ / S N

1
<
SG 10160 SG 11131 SG 11156
A0vhFyhk +FNRILRRD T5224F IZN-HILZAX—RI1vIR
M4x6 vk 200 mm

SYSTEM OPTIONS / S AFLATZ3>

A. OPERATION / KFNDII=H54T (&) FIOFBISERIRIE)
R4
TEESATO) I (AL KOOy RICEBHRAE)
xRO-Oyk = Tk
B. PANEL —
STACKING

(CONNECTED) / 2> 249v4 / KSR BINDR K
JCRINDTRTIAS B 7 eEl=EFE&EN/ xR
91T

SG 2730 %SilentGliss

26



27

NP5y / mFEEmAINDLIZIHAR
x  @EN=EEsNs/ (R

ZF12)\UI-2a N AlEETY . FFHlREIRICOVT
(& BHEABEWEDETZE,

%SilentGliss

SG 2730



PARTS / &bamn

A. STANDARD PARTS / %8B

B. OPTIONAL PARTS / A7>a> &b

2.9 G 10132 SG 10196 SG 10160

L—JL 2ch NSE (VIS A0YvhFyh

SG 10133 SG 10200 SG 10177
ﬁ%ﬁ L—JL 3ch 2cO-5— RT3 T IS

SG 10134 SG 10233 SG 10281
ﬁﬁﬁﬁ L—JL 4ch h—F>9IA K 100g/m AERILNRS Max6

SG 10135 SG 10237 SG 10395
T L 5ch Uy TG — +F ARV NRS M4X6

SG 10156 SG 10239 SG 11156

I RRMT 790 LIk I —HIRAR— NTwhREY

200 mm

SG 10159 SG 10241

+H5%S 3.5x 13 79 A

SG 10162 SG 10243

I RA— 70

SG 10163 SG 10244

I RA— 25145—

SG 10164 SG 10432

ToRAI— / JXR> 100 cm

SG 10165 SG 10434

I>RHN- / JUR> 150 cm

SG 10167

ovT LIk

SG 10168

PvT 54K

SG 10179

DEEMI S

SG 10180

ILEFSTHEUT

SG 2730

%SilentGliss

28



PRODUCT INFORMATION / S5k

- B BENIRME

- BEEEHE: S(RE-) — L(5-2)

- RBEEHHE: XAH0H

- h5—: 2= RKIA b

- 79U YA NMURTFTUI VD330 CSRRKIZEV BERNBD
SAREMESRFVLET

Features / ¥§#4:

- 2CO0->—%#%H

- BN TAL—XRETHE

- TR ST - T ICCRIED I ERNE S

- BEIN—FTMIVIS AT L SG 5600 M5ISETEELET

29 %SilentGliss

05/2025/V2



SYSTEM SPECIFICATIONS / A7 LMft#k

A. SYSTEM
DIMENSIONS /
S AT L SR

B. PROFILE / L—JL

L—IVIEER

C. HOW TO
MEASURE /
RIETT

SG 2750

T
4— max.— max. k
: g...
6m 4m BRRKE=.2kg/ m
% )R 1HEHD
50 68 86 7
- ™ I —— I ——
9 & 1 T
frady  Cxoricdy [reciely f
: : ! ! ! s a2 ! ;
Jig dig A e 20
i 18 i 18 P18 i 18 i 18 i L
SG 10123 SG 10124 SG 10125 SG 2004
L—=JL 3 ch =)L 4 ch L —Jl 5ch B9 EEE VAV
fn
T 8
37
SG 10230
7I=FrU7
- A . A: BIRIE
’ B: B@Es
p C: =T UENBERETOES
7/
B
CL
7
%SilentGliss

30



JNRIVD~T % A JCRIVTNOHEREEE: 500 - 1200
B: A—)\—-3v7: 80 (Z#(t4k) X 50 - 100

75

FITTING / s2iE&EH

A. FITTING EEREREIBIRICOVT(E. HHABBEIVWEDOEE
INFORMATION / S\
REHEHISR

757‘3 hﬁ@ﬂlﬁ 100 - max. 800 e max. 800 . 100

=

L [ ]
* BAATIE max. 500 mm £20F 9,

B. CEILING 7/

FITTING /

- —‘Jﬂ
SG 5600 LDEEE <m_6o,L_J

CIEARRCEDRIZEPRGRE TS

38
66 > =
.. oy O
==
SG 3003 SG 3004
9327 935>7

ML
31 ~& SilentGliss SG 2750



SYSTEM OPTIONS / S AFLATZ3>

A. MOTORISATION
[ E-4)E-33>

SG 56000%E&E

- SO0 AYY (FBIEEAR): FYUTA -
SG 10958

- RP2H) ([ERIE): $vUFA - SG 10958 / F+v
U7B - SG 10959

SIS OWVTIE, BEID—T> Mo IhI0TSEBLTK

/
SG 10230 rc“é('\"
SG 10958 /
SG 10959
B. PANEL =
STACKING /
JERNDEEBA SUINREYY / BRI A BIADEEH

x . @EN=EESN/RIL

RPZ5Y9 / mFREERIADRIZHE
x . @EI=EESN/FRIL

SRR I-23 N aJgETY . SFHIRIBIRICONT
(F BHABEVEDEEE0.

SG 2750 %SilentGliss

32



PARTS / &bam

A. STANDARD PARTS / F#8Bm

B. OPTIONAL PARTS / A7 3>8Ba

SG 3003 SG 10253 SG 2004
o oy 7557 TS RRIT- 51k R
SG 3004 SG 10958 SG 2539
5537 TLOOUYI NSv) JCRIVFPIT 5—7
Sinl = A
Sy $63605 SG 10959 SG 6024
I ToRA— /% ILIOUYINSY) N7 RIS IS TS
=
<I | 5
SG 10123 SG 10125
ﬁfﬁ} L= 3 ch o] L-Jb 5ch X BB TR
SG 10124 SG 10145
L= 4 ch IoRD— X BIBBER
SG 10140
7SI
SG 10143
ToRA—
SG 10144
IVRAN—
SG 10146
790
SG 10156
IVRRRYT
SG 10159

+P33% 3.5x13

SG 10200

2C0-3—

SG 10230

7IFrU7

SG 10252

IVRAN=LIbE

33

%SilentGliss

SG 2750



%SilentGliss



%SilentGliss



The Architects of Silence

Silent Gliss is the leading global supplier of premium
interior window treatments. Since 1952 we have
been tirelessly committed to the development of the
world's smoothest, quietest systems using state of
the art technology.

Driven by customer needs, Silent Gliss offers
functional and durable products. Expert technical
advice coupled with installation and support services
complete the offer. Silent Gliss stands for
innovative, sustainable, tailor made solutions,
exceptional design and first-class quality.

Silent Gliss Corporation

4F Sanko Bldg.

9-9 Yotsuyasakamachi,
Shinjuku-ku

160-0002 Tokyo

Japan

T Tokyo 03 3350 4809

T Osaka 06 6626 2810
salestokyo@silentgliss.co.jp
salesosaka@silentgliss.co.jp

silentgliss.co.jp



	 Panel GlideSystems
	 General Notes / 一般的な注意事項 
	Application Chart

	SG 2700
	 Product Information / 製品情報 
	 System Specifications / システム仕様 
	 System Dimensions / システム寸法範囲 
	 Profile / レール 
	レール情報
	SG 10122
	SG 10123
	SG 10124
	SG 10125
	SG 10172
	SG 10173
	SG 10174
	SG 10175
	SG 2004
	SG 10230


	 How to measure / 測定方法 
	パネルの寸法


	 Fitting / 設置範囲 
	 Fitting Information / 設置範囲情報 
	ブラケット類の位置

	 Ceiling fitting / 天井設置 
	クランプ - SG 3003 / SG 3004
	SG 3003
	SG 3004

	ブラケット - SG 10136 / SG 10137
	SG 10136
	SG 10137


	 Wall fitting / 正面壁設置 
	スマートフィックス (補助金具)
	SG 10136
	SG 10137
	SG 10395
	SG 10492
	SG 11200
	SG 11201
	SG 11202
	SG 11203
	SG 11204
	SG 11210
	SG 11211
	SG 11212
	SG 11213
	SG 11214
	SG 11156


	 Recess fitting / リセスフィッティング 
	リセスレール - SG 10172 - SG 10175
	SG 10157
	SG 10172
	SG 10173
	SG 10174
	SG 10175



	 System Options / システムオプション 
	 Operation / 操作 
	 Panel stacking (connected) / パ ネルのたたみ代 (連結タイプ) 

	 Parts / 部品 
	 Standard Parts / 標準部品 
	 Optional Parts / オプション部品 


	SG 2710
	 Product information / 製品情報 
	 System Specifications / システム仕様 
	 System Dimensions / システム寸法範囲 
	 Profile / レール 
	レール情報
	SG 10123
	SG 10124
	SG 10125
	SG 10173
	SG 10174
	SG 10175
	SG 2004
	SG 10230


	 How to measure / 測定方法 
	パネルの寸法


	 Fitting / 設置範囲 
	 Fitting Information / 設置範囲情報 
	ブラケット類の位置

	 Ceiling fitting / 天井設置 
	クランプ - SG 3003 
	SG 3003

	ブラケット - SG 10137
	SG 10137


	 Wall fitting / 正面壁設置 
	スマートフィックス (補助金具)
	SG 10137
	SG 10395
	SG 10492
	SG 11200
	SG 11201
	SG 11202
	SG 11203
	SG 11204
	SG 11210
	SG 11211
	SG 11212
	SG 11213
	SG 11214
	SG 11156


	 Recess fitting / リセスフィッティング 
	リセスレール - SG 10172 - SG 10175
	SG 10157
	SG 10173
	SG 10174
	SG 10175



	 System Options / システムオプション 
	 Panel stacking (CONNECTED) / パネルのたたみ代 

	 Parts / 部品 
	 Standard Parts / 標準部品 
	 Optional Parts / オプション部品 


	SG 2730
	 Product Information / 製品情報 
	 System Specifications / システム仕様 
	 System Dimensions / システム寸法範囲 
	 Profile / レール 
	レールとカーブ加工の情報
	SG 10132
	SG 10133
	SG 10134
	SG 10135
	SG 10179
	SG 10180


	 How to measure / 測定方法 
	パネルの寸法


	 Fitting / 設置範囲 
	 Fitting Information / 設置範囲情報 
	ブラケット類の位置

	 Ceiling fitting / 天井設置 
	直付け設置

	 Wall fitting / 正面壁設置 
	スマートフィックス (補助金具)
	SG 10160
	SG 11131
	SG 11156



	 System Options / システムオプション 
	 Operation / 操作 
	 Panel stacking (connected) / パネルのたたみ代 (連結タイプ) 

	 Parts / 部品 
	 Standard Parts / 標準部品 
	 Optional Parts / オプション部品 


	SG 2750
	 Product Information / 製品情報 
	 System Specifications / システム仕様 
	 System Dimensions / システム寸法範囲 
	 Profile / レール 
	レール情報
	SG 10123
	SG 10124
	SG 10125
	SG 2004
	SG 10230


	 How to measure / 測定方法 
	パネルの寸法


	 Fitting / 設置範囲 
	 Fitting Information / 設置範囲情報 
	ブラケット類の位置

	 Ceiling fitting / 天井設置 
	SG 5600 との組合せ
	SG 3003
	SG 3004



	 System Options / システムオプション 
	 Motorisation / モータリゼーション 
	 Panel stacking / パネルのたたみ代 

	 Parts / 部品 
	 Standard Parts / 標準部品 
	 Optional Parts / オプション部品 
	The Architects of Silence




